
5

4

3

2 2 2 2 2 2

2

2

2

2 2 2 2 2 2 1

1

6

6 A

A

A

A

B

B

C

C

Mutha Hubba NX 2014
Pole Set 02757

# Pole Segment

1 NSL 9.6 x 407mm

2 NSL 9.6 x 425mm Insert

3 NSL 9.6 x 400mm Insert

4 NSL 9.6 x 203mm

5 NSL 9.6 x 203mm Insert

6 NSL 9.6 x 407mm Insert

Letter Part

A Screwlock Tip

B Screwlock Tip (short)

C Swivel Hub

Section Shock Cord

Ridge

Side Poles x2

Total:


